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Mathematical changes to the equations 
 
 
CHAPTER 1: 
 
Para 1.18, equation  
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Equation (1.15)  
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CHAPTER 15: 
 
Equation (15.28) 
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Equation (15.29) 
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Paragraph 15.60  
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Equation (A15.2.4): 
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Equation (A15.4.5) 
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Equation (A15.4.6) 
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Equation (A15.4.7) 
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CHAPTER 16. 
 
Footnote #43  
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Equation (16.53)  
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Footnote #61 
ri ≡ pi

1/pi
0  

 
Equation (A16.1.7)  
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Equation  (A16.1.8) 
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CHAPTER 17 
 
Equation (17.4) 
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 Paragraph 17.20 first equation 
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 Equation (17.35)  
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Equation (17.90)  
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Equation (17.99)   
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CHAPTER 18 
 
Equation (18.11)  
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Equation complex (18.18) –(18.20), third line.  
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CHAPTER 20 
 
Footnote #27:        
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Equation (20.66)   
 
δm ≡ ln βm ;   m = 1,...,M. 
 
Equation (20.72)  
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CHAPTER 22 
 
Equation (22.6):   
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Equation (22.10):   
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Equation (22.19): 
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CHAPTER 23 
 
Equation (23.70) 
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Equation (23.74)  
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Equation (23.75)  
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Paragraph 23.104 
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Footnote #52: 
 
τS

1PS
1(1−δ0)QS

0  
 
 
 
 


